EARAROBEEIERT — 2 N— IBISH —F

20145 1H9H (K) 10EI#1E4H

KM 5% —# C3K B R
[AE4£] 17 :800,000 3 ~ 23%&:240,000  ~ 33#&:144,000 @  47#&:96,000 3 ~ 5 37 :80,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
=« JIIBIEXEB :16. -3 . — JNBIEFT (#afE)
lslgl5>m-355> it 5 ns 1(1_6)4 6-3-3 | 39.4 1 (1122) gmﬁ%g &
R:F25>40 B:Y—T75—h J—=HTp—L
4 7 | BERE 1:17.0 12-12-12 [ 38.4| — 10 | 449 |REREESE (11E)
2|8l12( 7Y h1—=7) 6.0 @ Lo | @) WOvxw
LA —=JIWh7x B:HXVILIIRE Il mp;e]
= FHEE : -5 — EHE (15
N > DI P o7 i 1(.31/1.)1 8-5-4 [39.9 2 <4+524) éﬂ%?
od—h4 B:T74UT 7T FH XF
# 7 | REEE 1:17.2 11-10-9 |39.3| — | 6 | 463 |%&1EE (i)
4 9| 717 b=} 54.0 vas 411) | SHAR u
R:T7ITRAT—=IVK B:H /NN k= b RO%%
o 7 | BEERE 1:17.2 10-11-11 2 = 11 444 | 1ERARTERR (HA18)
5 &N 3 whIFT—T # 54.0 (NF) 0 % (-1) %%ﬁﬂﬁ "
RHLRA Y E =y BA-FN—F 4 2HIT7— L
N = ¢ et 7. ~7- . — HHBE (AfE)
ol 4| TIv—51> Lk "R S Srr A0 ° (“ff) fdilee
v NRNFAY>F— B I74XFX7€5—-L <)FZXF—TI
- A3 B 7 | HERANIE 1:17.5 4-5-5 [40.3| — 8 464 | NIBE (AaF)
T 7| NS ARAN 54.0 (3/4) 4y | W I7-2pEvar
L:A4—JNhT7x B:KRKII SIS
R . o MEAEA : -0 — EEH (fafE)
87|10 ¥ v 12 F 13— o | HE s | w2z w0 T REE
Ry TEL2VF— B:vvw/7O70LX 22 I r=::3
= = s panlii:E= 7. -1- . — A (MAE)
9 g Wz7/77>>a " 56.0 1(31/74>7 L ° 384) gEE'E? )
LR T b F -G —K—F BiHvELTI v fiE  EEL
4 o6 | RER 1:17. 9-8-8 [40.1| — 4 468 | HAMLE (fa4E)
10/ 8|11 ‘ngjlu_ 56.0 (NF) 46) T —
RNTIWHLTIA— B:YTEL—TI HiZH8%
s — . N FHfE— : -9- — B (i)
1lsls| 751 b>1—5n 46 R 1.(168>.9 7-9-10 | 41.2 9 (5&7) s
AT —Y—Z BA—AFIAyY b A— b 77—L tEE
3 _ 4 5 | EEMHX 1:20.4 2-36 [43.4| — 12 | 480 |ETHE (#18)
120117 hy=2R 54.0 @ (t5) Shikas
R:28F2—ATYNT1+ B:T14T7LRIA—> SR EEKE
@ 1—F—@&BIEf
13—7—
Aol=5r= 8,1,10,7,4,6,5,2,11,3,9,12
33—+— |[8,10,(1,6),(2,7),4,11,5,9,3,12
41—+ — 8,10,6,2,7,1,4,11,9,5,3,12
[ RN
B OB 6 130H4 714K 6-12 1,310 e & 5-8 500 &R 2-6-12 6,130
8 B 6 110 2-6 260 B 5-8 680 JEH 6-12-2 19,080H
12 1,100M 2-12 2,980 B E 6-12 2,770
2 170 B H 6-12 3,400/

ABICOVWTRDTEEERROODE. TR LIV,




